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QUESTION 1

How should an administrator apply a policy to Network Discover scans?
A. assign the policy group to the scan target

B. choose the correct policy in the scan target

C. assign the policy to the Network Discover Server

D. choose the correct scan target in the policy destination

Correct Answer: A

QUESTION 2

How does a volume created by VxVM appear in the operating system?
A. As remotely-hosted disks

B. As simple disks

C. As SAN disks

D. As physical disks

Correct Answer: D

QUESTION 3

Which server encrypts the message when using a Modify SMTP Message response rule?
A. Encryption Gateway

B. SMTP Prevent server

C. Network Monitor server

D. Enforce server

Correct Answer: C

QUESTION 4
How many free partitions do you need to encapsulate a boot disk?
Al

B.2
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C.3
D. 4

Correct Answer: B

QUESTION 5

You are not able to find a physical device corresponding to the disk ID in the disk media record when one of the
subdisks associated with the plex fails. You need to check the plex state to solve the problem. What will be the status of
the plex in this situation?

A. UNENABLED

B. NODEVICE

C. DISCONNECTED

D. INACTIVE

Correct Answer: B
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